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40 F /< F-test

H,:$=0

H,:B#0 B

Assumption : )_( =46.667

LE; ~ NID(0,6° ) for all i, Y =5.333

254 Random Sample b= 2%y 000126
3.8 linear Z x’

4.X measure are without error a=Y —bX =5.392

a=0.05 Y =a+bX =5.392-0.00126X

SSR=b>) x> =b)_ xy =0.00079
SSE =% y*—b) xy =110

SST = SSR+SSE =)y’ =110
R’ = SSR/SST =7.2x10°°

Sov. | ss dit | MS

abl

Regress | 0.00079 1 0.00079| <<1
ion
Error 110 25 4.4

Total 110 26

_ss
daf
F= MSR
MSE

MS

Fuss(1 > 25)=4.24 > 5TV F fif
Fr[’ﬁ% U H, 0 JEiR6 Hy 0 J] 40 & (2 % ?j@ﬁ%ﬂ@%?&lﬁﬂ%ﬁfﬁ"s » £17% type | error fiv
P (P=5%)-



70 [ F-test

H,:B=0 B
H :B#0 X =74.815
Assumption : Y =2.63
LLE; ~ NID(0,6° ) forall i.j. b= 2%y —.0.315
AT sz |
2.5 52 v Random Sample
3.5?%[1.”3(1" a :Y—bY:26.197
4.X measure are without error Y =a+bX =26.197 - 0.315X
a =0.05
SSR=b*) x*=b) xy=2.786
SSE=Y"y’>—b) xy=23.5I
SST =SSR+ SSE =) y*> =26.296
2 _SSR —
R =SSR/ . =0.106
<J0)Y/ SS df MS F
Regress| 2.786 1 2.786 | 2.963

ion
Error 23.51 25 0.9404

Total | 26.296 26

_SS
df
_ MSR
~ MSE

MS

Foos(1 » 25) =424 >F =2.963
Fr[’ﬁ% 7 H, » JEiR¢ Hy > J]] 70 F (& ?j@ﬁ%ﬂ@%?&&lﬁﬁ%ﬁfﬁ » £17% type | error fiv
P (P=59%)-



7 .‘ﬁ F-test

H,:B=0

H, :B#0

Assumption : X =60.741

LE, ~ NID(0,6° ) for all i. Y =3.981

2.F: 15 Random Sample b D xy 0,092
3.5 linear z x?

4.X measure are without error a=Y -bX =9.569
a=0.05 Y =a+bX =9.569 - 0.092X

SSR=b>> x*=b) xy=95.003
SSE =Y y*-b) xy=139.978
SST =SSR+ SSE =) y* =234.981
R’ = SSR/SST =0.404

abl

SOV | ss o S

Regress| 95.003 1 95.003 | 35.291
ion
Error |139.978 52 2.692

Total |234.981 53

MS :E
df
F_ MSR

"~ MSE

Foos(1 » 52) =4.032 < F=35.291
i85 B 156 Ho 140 5 {2705 9 % 91 e SR SSUEE 7> 7 type I error
P
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